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149. 9f¢ 4, B, € Toreft Fongst < %17 &, ¥ sin ( 2 ) SIS 2-
A 2 B)si 4
(A) tan > (B)sin >
C) cos 2 D) sec 2
(C) cos > (D) sec >

150. cosec (90° - B) sin (90° - O) foraah TR & 2

(A)1 (B)-1

1
(©)0 (D)

Ans. (C)

Ans. (B)

Ans. (C)

Ans. (B)

Ans. (B)

Ans. (C)

Ans. (A)

Ans. (A)

Ans. (A)

Ans. (C)

Ans. (A)




151. A A = 60° TAUT B = 30° A sin (4 + B) FT A TR 2

(A0 (B) 1
o2 1
©)3 (D) NG
152. cos 48° - sin 42° =T HH @8-
(A)O (B) 1
©)2 (D) %15 T2
153. Afe cos 50° = x T sin 50° T HH 2-
A V1+ x2 B)V1 — x2
(C)1+x2 D) 1-x
C0SR0°
154, — + c0s59° - cosec31° Elv"fﬂﬁ%-
2S1n10°
NE 3
(A)7 (B) 7
V3 1
(C)7 (D) NG

155. cot(90°- 0) ST B-
(A) cosecO (B) tan®
(C) secO (D) cosO
156. cos (90° - A) =
(A) cot A (B) sin A
(C) tan A (D) sec A

157. cot 46°. cot 27°. cot 44° - cot 63° WII'F{%-

(A) -1 (B)1
©0 (D)
Sin 63°
158. =
CO0S27°
A) V3 (B) 1
©)2 D)3

159 sin (90° - B) =

(A) sin O (B) -sin ©
(C) cos B (D) - cos O
tan49°
“cotare
(A)3 B)2
©1 (D) 6

Ans. (B)

Ans. (A)

Ans. (B)

Ans. (B)

Ans. (B)

Ans. (B)

Ans. (B)

Ans. (B)

Ans. (C)

Ans. (C)




161.

162.

cot (90° - 4) =

(A) cotd (B) tand

(C) sind (D) 378 ¥ 13 T
Cot 44° o
tanss

1
(A) 2 B)0
(©) -1 (D) 1

163. & APOR, R W WU T sin (P + Q) T A &-

164.

165.

166.

167.

168.

169.

170.

(A)O (B) 1

1
(©)-1 B)3

cotl®. cot&9° hT HIH %—

(A) 1 (B)0
) 1
© (D) 2

sin 20° - cos 70° =
A1 (B)O0

(C) 2sin 20° (D) 2cos70°

sin (90° - B) T AH FA=ifFa A A AT R 2
(A) cos © (B) cot ©

(C) cosec 0 (D) sin ©

tan 10° tan 15° tan75° tan80° = ?

™ V3 ® %
©)-1 (D) 1
sin (90° + B) =2
(A) cosB (B) sin®
(C) tan® (D) cotB
cos (90° + 0) =2
(A) sin® (B) cos
(C) tan® (D) -sinB
tan (90° + ) =?
(A) tan® (B) cotD
(C) -sin0 (D) SecH

Ans. (B)

Ans. (D)

Ans. (B)

Ans. (A)

Ans. (B)

Ans. (A)

Ans. (D)

Ans. (A)

Ans. (D)

Ans. (B)




171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

sec (90° + 0) =2
(A) -cosecO
(C) -secB

cot (90° + B) =72
(A) tanB
(C) secB

sin (180° - B) =72
(A) sin®
(C) tan®

cos (180° - B) =2
(A) secO
(C) -cosB

tan (180° - ) =2
(A) -tanB
(C) -cotB

cot (180° - B) =2
(A) tanB
(C) -sinB

sin (180° + ©) =2
(A) cosB
(C) cotB

cos (180° + 0) =72
(A) sin®
(C) cosecB

tan (180° + B) =2
(A) tanB

(C) sin®

cosec (180°+ B) =2

(A) secO

(C) -cosecO

(B) cosO
(D) cotB

(B) -cotB

(D) -tanB

(B) cosO

(D) cosecO

(B) cotB
(D) sin©

(B) tan©
(D) cotO

(B) cosB

(D) -cotB

(B) -sinB

(D) cosecO

(B) cosO
(D) -cosB

(B) cotB
(D) cosB

(B) cotB
(D) tan©

Ans. (A)

Ans. (D)

Ans. (A)

Ans. (C)

Ans. (A)

Ans. (D)

Ans. (B)

Ans. (D)

Ans. (A)

Ans. (C)




181.

182.

183.

184.

185.

187.

188.

190.

191.

cot (180° + B) =
(A) tanB
(C) cosecB

sin (360° + 0) =?
(A) sin®
(C) cosecB

cos (360° + 0) =72
(A) secO
(C) cosO

tan (360° + 0) =?
(A) cotB
(C) cosecO

sec (360°+B0) =2
(A) secO
(C) cotB

tan (360° - ) =2
(A) -tanB
(C) cotB

cosec (360° - ) =2
(A) cosecO

(C) cosecB

1+ sin®

T

1 —sin@
(A) secB + tanB

(C) sec?0 + tan20

sinB cosO
|

T
1—cotO 1-—-co

(A)0

(C) sinB + cosO

T A 2-

(B) cotO
(D) secO

(B) cosO
(D) secO

(B) cosecB

(D) tanB

(B) tan®
(D) secB

(B) cosecB

(D) sin@

(B) tan©

(D) cosecO

(B) secB

(D) -cotB

(B) secB - tanO

(D) sec?0 - tan?0

(B)1

(D) sinB - cosO

Ans. (B)

Ans. (A)

Ans. (C)

Ans. (B)

Ans. (A)

Ans. (A)

Ans. (C)

Ans. (A)

Ans. (C)




sin®
S 2-

192.
1+ cos
1+ cosB 1 — cosH
sin@ (B) cos0
1—cosH 1 —sin@
sin@ cosH

193. 3¢ sinB + sin?0 = 1 A c0s?0 + cos*O = 2
(A) -1 B)1
©o (D) s &l

194. (sinB - cosB)? + (sinO + cosO)? = ?

(A)0 B)1
©) 4 (D)2
g5 _tan®  _tan® 3
secO—1 secO+1
(A) 2 tanB (B) 2 secB
(C) 2 cosecO (D) 2 tanB - secO

196. afe tanB + cot® = 2 a9 tan20 + cot20 =2

(A)2 (B) 4

(©)6 (D) % el
197. (secA + tanA)(1 - sinA) = ?

(A) secd (B) sin4

(C) cosecd (D) cos4

198. It a cosO + b sin® = 4 AT ¢ sinO - b cos@ =3 T 2 + b> =2

(A) 4>+ 32 (B) 47 - 32
(C) 4 x 32 (D) g &
199. A& 4 + B = 90° Tl cosA & BRTI-
(A) cos B (B) sin 4
(C)sin B (D) cos 4
secc A
200. SIS BT & -
1+ cotcA
(A) sec?’4 (B) cosec?4
(C) cot?4 (D) tan 4
1+ cosB
201. T M -
1 — cos6
(A) cosec?0 + cot20 (B) (cosB + cosecB)?

(C) cotB - cosecO (D) cosecO + cotO

Ans. (C)

Ans. (D)

Ans. (D)

Ans. (C)

Ans. (A)

Ans. (D)

Ans. (A)

Ans. (C)

Ans. (D)

Ans. (D)




202. cos4 - sin A ST -
(A) 2 cos?4 + 1 (B) 2 cos?4 - 1
(C) 2 sin%4 - 1 (D) 2 sin?4 + 1
203. I1E cosA + cos?4 = 1 a9 sin?4 + sin*4 = 2
(A) -1 (B) 0
©) 1 (D) 13

204. (1 + tanB + secB)(1 + cotB - cosecO) = ?

(A) -1 (B)0
©1 (D) 2
1 +tamwAd 0
"1+ cotA
(A) -1 (B) sec’A
(C) cot’A (D) tan’A

206. (1 — cos20)(1 + cot0) =2
(A)0 (B) -1
©3 D)1
207. sin A FTAFR |
(A) (sinA) 1 (B) cosec’l

(C) cosecA (D) s &l

Ans. (B)

Ans. (D)

Ans. (D)

Ans. (D)

Ans. (D)

Ans. (C)
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